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1. Treielis HIvR Jen[E Has ke 7

i. TEE TTeTHTS 0 S0

i,  YTRATS A, AEEaS AT YT T80T SO

iil. e @WWE g AHaaETE R w

(1) i 3uforii (2) i o ii (3) iii mfer i (4) i, i amfon i

Which of the following are Fundamental Duties ?

i. Safeguarding Public Property

ii. Protecting the Sovereignty, Integrity and Unity of India
iii. Developing scientific temper and humanism

(1) iandii (2) iiandii (3) iiiandi (4) i, ii and iii
2. wenre U frasus s i s st SR wergeeE wiver ?

(1) 733 74 gl @) 713 72 geedt

(3) 779 78+ gEEdl (4) I HIoATE TEE

Which two Amendments were responsible for the formation of the Maharashtra State
Election Commission ?

(1) 73 and 74t Amendment (2) 715t and 72" Amendment
(3) 77 and 78th Amendment (4) None of these
3.yt |eEg gHaEnRft frear-seear 3R,
(1) i
@) Ieferar
(3) FsH
(4) wIF UsA MR
Indian Federalism is similar to federalism.
(1) Nigerian

(2) Australian
(3) Canadian
{4) United States of American

TESUT HIWATS! SR / SPACE FOR ROUGH WORK P.T.O.
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4. 73t weTgee wAfufrm, 1992 < wfva gdia fagmer fmm &

A. W 4gErE, JaEa "ird s fesn ufteg faes saerett Breada e
B. IH WUET UTHGHT T 0.

C. HAfEeaE Teh-qeiary JE STHE,

D. & 3 Iyt varEE fafia fags.

1) w4 fou™ @ aEq.

2) faum A 3nfor C sire 31 anfor faum B @ D g a1,

) was A, B i C & faum i ameq,

) Ta faur SR 3.

Consider the following statements regarding the 73" Constitutional Amendment Act,
1992 :
A. 3 tier structures which include the Gram Panchayat, Panchayat Samiti,
Zilha Parishad.
B. To establish Gram Sabha at village level.
C. Reservation of one-third seats for women.
D. Regular elections of Panchayats in every 3 years.
1) All statements are true

L —

(

(2) Statements A and C are true, B and D are false
(3) Only statements A, B and C are true

(4) Ali statements are false

5. U= Heifusem gadt @eiia fagmid o faym @ wiama fasr
H. TSI Fraefaaess goon 200,
¥, Ty taftnger=n wHwa 9 o,
. o TsgadiEl 7t SEuEia TeUner Sl
. T fafudgasm qaq s
(1) ‘@ ws (2 @ P w () (4) ‘3 anfn ¥
Choose the correct statements related to State Advocate General from below.
a. To give legal advice to the State Government.
b. To take part in the proceedings of the State Legisiature.
¢. He holds office during the pleasure of the President.
d. To vote in State Legislature.
(1) ‘a’and’'c’ (2) ‘b and‘c (3) ‘band‘d (4) ‘a’and’b’

e TRIHTHTE! AW / SPACE FOR ROUGH WORK
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6. Trear 9 93 =i wHoms fFEE e ?

The District and Sessions judge works directly under the control of
(1) Governor of the State
(2) Law Minister of the State
(3) High Court of the State
)

(4) District Collector

7. SRANURYES HEATH® HeeiiR T eyt TeamTR /[ Wieieis! St g suam

et Bt ?
(1) TA. MUERETH 3R (2) @ W™
(3) @ 3. FumEN (4) T HHEd
Who was appointed as the constitutional advisor/legal advisor to the Constituent
Assembly ?
(1) N. Gopalswamy Ayyangar (2) SirB. N. Rau
(3) T.T.Krishnamachari (4) N. Madhava Rau
8. Fesum e IuganH faguEhien Hfyepa et s e feamr=an

1ra Traeve e feve faeu S aret SHudT ol
(1) 30 feamm (2) 15 feamia (3) 45 feawmm (4) 20 feaara

The candidate who contested the election has to submit statement of election expenditure

to the Election Commission within days after the official declaration of elaction
results.
(1) 30days (2) 15 days (3) 45 days (4) 20 days

FHeed THIHTHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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9, Tries T T TS HUITE UeATHRI=T ST IH BT 7
(1) FEARRR TSAT AT 0
(2) hg TTHRAT TG L0
(3) TEHUSITE ARG O
(4) amfaes 9 anfis = geenfia &

What was the objective of the constitutionists to include the Directive Principles of State
Policy ?

(1) To establish a Welfare State

(2) To guide the Central Government

(3) To guide the States

(4) To establish the social and economic justice

10. IEmEe o=, 83 At AR sthvar AfteR Grelietsh S R 7

(1) Tsgwedt (2) vawu
(3) WRA™ T (4) wEe

Who of the following have the power to determine the structure, jurisdiction and
rights of the judiciary ?

(1) President (2) Prime Minister

(3) Chief Justice of India (4) Parliament

11, T T YUHE S Tsan i w7

(1) wEwrg @) U™

(3) R (4) onfEm

Which amongst the following States first created the institution of Lokayukta ?
(1) Maharashtra (2) Punjab

(3) Bihar (4) Odisha

FHEAT THIHTETE! AR / SPACE FOR ROUGH WORK

A
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12.-@wﬂa&aﬁﬁwwmeﬂﬁuawaﬁa?®?
(1) AEFRUTTHeAT HISThI=A] W, T, TSl 3.2 Wi
(2) et Hieuiipa SATerETIash AEhe
(3) dEfUa TSI foiet e
(4) iRt

Which of the following is not a Municipal Corporation's source of revenus ?
(1) Rents from Municipal Corporation — owned markets, houses, plazas etc.
(2) Taxes from commercial vehicles registered in the city

(3) Grants provided by the respective State Governments

{4) None of these

13. WieiEdh P WILITER TS Taadmed Aqgra It 3nfor srgfa smrfad smeo
e ?
(1) VR TeaEee % 243 (3)
(2) W TsEEEAd e 243 ()
(3) YR Toawee S 243 (TH)
(4) W Tegued %o 243 (€1)

Under which one of the following provisions is the reservation for Scheduled Castes

and Scheduled Tribes made in every Panchayat ?
(1) Article 243 (E) of the Constitution of India
(2) Article 243 (V) of the Constitution of India
(3) Article 243 (S) of the Constitution of India
(4) Article 243 (D) of the Constitution of India

THEST HIHTATS! AR / SPACE FOR ROUGH WORK P.T.O.
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14, WU ST AETH TEE e T Trdishe I %E I 7
a. THER
b. TEER
c. Higuign
d. faedigR
(1) a bamlc (2) a, b amfr d
(3) a,c 3 d (4) dd s AR

By which of the following modes a person can acquire citizenship of India ?
a. By birth
b. By descent

c. By registration
d. By request
(1) a,bandc (2) a,bandd
(3) a,candd (4) All are correct
15, IR Toaae=at 42 =1 HeAIGee 4 & WRTde e T YEA hasTd]
THTEST FAT 3T
(1) 51 & 2) 51+ (3) 51= (4) 518
Fundamental Duties have been included in Article of 4! Section of
the Constitution of India by 42"d Amendment.
(1) 51A (2) 51B (3) 51C (4) 51D
16. 33 TuEIYe FaeT HrAa BT,
(1) 1991-96 (2) 1982-87 (3) 1992-97 (4) 1962-67

The period of VIII Five Year Plan was
(1) 1991-96 (2) 1982-87 (3) 1992-97 (4) 1962-67

FHeeAl HWTHTE! AU / SPACE FOR ROUGH WORK

A
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17. MR vse¥s aedd  Hid waifis 96y wgh 39 8,
(1) At amfr @ Frmor (2) Ffex snfor egzem
(3) TR AT geuraesvT (4) St &=
The highest allocation was providedfor __________in First Five Year Plan.
(1) Irrigation and flood control (2) Cottage and small scale industries
(3) Transport and communication (4) Energy sector
18, WRATHS W& UG IeqTeA qean | ASd gafd FH .
(1) ufeeh s=ariis @ (2) <reft geETie F
(3) el vmETie A (4) wraEt TEaiE e
The GDP growth rate was lowest during plan in India.
(1) First five year plan (2) Fourth five year plan
(8) Third five year plan (4) Fifth flve year plan
19, ur=e =T deE=T Yo 32w ¥ F.
(1) IS I 1@ (2) TS AT 918
FfR IEvT= aR (4) wgSETE 918
The main aim of fifth five year plan was
(1) Growth of heavy industries (2) Growth with social justice
(3) Growth of cottage industries (4) Growth of small industries
20. MWWWWMRWW ?
A, USERifER
W, HnE gl

F. TFEE g °T
(1) = 31 i &% (2 wRAAMIE (3) wEI AU F (4) (e ad

Which of the following objectives were focused in V!II Five Year Plan ?
a. Employment generation
b. Health facilities
c. Reducing population growth
(1) Onlyaandc (2) Onlyaandb (3) Onlybandc (4) Allof the above

TR TGS SR / SPACE FOR ROUGH WORK P.T.O.
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21, ‘e T IrTRT FHeel wEftd R
(1) @
(2) EHAT WSHET TN
(3) Toa-faurdt &
(4) ws snfeardt g

To what ‘Peninsular Rock Agama’ is related ?
(1) VLizard

{2) Type of sea rock

(3) Non-poisonous snake

(4) A tribal community

22. WieAISIh! T HUH /A JreEl.
. %Wmmmmﬁﬁwwww afgel SUA-AE a8 91t
q,  SU-9I8 918 ted goher 60 ToRi/an. SR urg wehd Snfor T wermet gEm
100 Teret /1. SR TS Ik
(1) w0 A (2) wEd |
(3) FaTGH (4) TR A

Select the correct statement/s from the following.

A. Japan has introduced a minibus lookalike world’s first dual-mode vehicle in its
town of Kaiyo.

B. The dual-mode vehicle can run at a speed of 60 km/h on rail tracks and can go
as fast as around 100 km/h on public roads.

(1) Only A (2) OnlyB
(3) BothAandB {4} None of the above
23. WA i Afafes wre (APF) =0 Tee-a Sid dew v s fag eneft 3 ¢
(1) =gyt = T (2) e HETfeTER
(3) =t Fwor R fivsn (4) gl o e, won

Who has been elected as a member of the Governance Committee of the Asia Pacific
Forum (APF) from India ?

(1) Justice Ranjan Gogoi (2) Justice Sadasivan
(8) Justice Arun Kumar Mishra (4) Justice N.V. Ramana

THeo SHIHTHTS! AN / SPACE FOR ROUGH WORK

A
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Heuld g 38 /d ?

a. & g 9 ot Fam.

b. e freem gE=aT wige JawdE MEd.

c. Tt STrE H G T A T e,

(1) & a 3700 b (2) & b 3l ¢
(3) % a (4) wad b

Liz Truss was elected as the Prime Minister of Britain. Which of the following statements
is/are incorrect about her ?
a. She represents conservative party.
b. She is the second female Prime Minister of Britain,
c. She defeated Rishi Sunak who is of Indian origin.
{1) Onlyaandb {2) Onlybandc
{3) Onlya {4) Onlyb

25.

iINCOVACC, SITell Sifrgdrdt 3gMee et S8 WV ATl ¢uard 3T gidt, @t o
HEER Iefen el I 7

(1) ¥ e st i (2) iR § fofize

(3) WA TR (4) TR

INCOVACC, which was approved as an intranasal booster dose for COVID, is
manufactured by which institution ?

{1) Serum Institute of India {2) Biological E Lid.
(3) Bharat BioTech {4) Biocon
26. 2022 =T UH WYH YIAER! qfael gaviuges ercfierdshl ®of e 7

(1) Tr@a sA (2) IREE 9q
(3) furer Aaeht (4) waft wfersh
Who won the first gold medal for India in Commonwealth Games, 2022 ?
(1) Nikhat Zareen {2) Meerabai Chanu
(3) Achinta Sheuli {4) Sakshi Malik

THeed] FIHTHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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27. Wit U@ 2N fafa vew swuia dfien afeea uften e Svamr am Somg e

A ?
(1) 3t weeram (2) ferar
(3) wru=A gl g9 (4) Idl CHIEH
Who is the first Woman Chairperson of the Securities and Exchange Board of India
(SEBI) ?
(1) Arundhati Bhattacharya (2) Shikha Sharma
(3) Madhavi Puri Buch (4) Shanti Ekambaram

28. figitwieey fua.we. =, - d154 ke vt w&fta w7
(1) = (2) & (3) damEaA.  (4) HHum.
Who among the following launched the PSLV ~ C54 rocket from Sriharikota ?
(1) NASA (2) ISRO (3) DRDO (4) BARC

29. .. Safafyear aRwg COP 15 (2022) ¥ oMM 91 HI@T IR ?
(1) == (2) wiE (3) FAST (4) oArefern
Which country is the host of the UN Biodiversity Conference COP 15 (2022) ?
(1) China (2) Sweden (3) Canada (4) Australia

30. = faum /A F=aEr.
H. Y@ TG o Aigerg A 100% I frfed oM gRg & W dfee W e
3R, et wwon e,

9. feReam@nmma mesi o T da1 Iuerey gidter Jnfer gud wed 336 faefrm
YT AT SIS 919 HH BigH.

(1) W H Iy e,

(2) e ® IY TR,

(3) fowm 31 9 7 g T Eq.

(4) faam 31 9 9 S AT 3.

Select the correct statement/s.

A. Sheikh Hamdan bin Mohammad announced that Dubai became the world’s first
government to turn 100% paperless.

B. The digitalization will provide all Govt. services to customers and reduce paper
consumption by more than 336 million papers in Dubai.

(1) Only A is correct.

(2) Only B is correct.

(3) Both the statements A and B are correct.

(4) Both the statements A and B are incorrect.

THeed! HIATQIE JFT / SPACE FOR ROUGH WORK -

A
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31. UEid e T AN 69 14 1 gEgTer AN wieul U H, whre 39, smed,
forera 909 99 Ad, T HITIA THIATT HI0E &1 Id ?

(1) 4,6,10,8 (2) 7,9,13, 11
(3) 6,8,14,12 (4) 7,12,6,8
Filled the numbers from 6 to 14 sequentially in the columns of the following figure in

such a way that their vertical, horizontal, diagonal sums are equal, then what will be
the numbers in columns at corners ?

(1) 4,6,10,8 () 7,9, 13, 11
(3) 6,8,14,12 (4) 7,12,6,8

32, IS 2 FENEN 6 ANl WIS RA T AED o TT Yoiren sgre fAwe IR, gef s
9 1294 38, W ge=a FTUES! aEiene 99 1 g ?

(1) 308 (2) 32ad
(3) 4278 (4) 369

Father is 6 years older to mother and mother's today's age is thrice the age of the daughter.

The daughter is now 12 years old, what was the father's age when the daughter was bom ?

(1) 30yrs. (2) 32 yrs.
(3} 42 yrs. (4) 36 yrs.
FHeedl RIHTETE! AR / SPACE FOR ROUGH WORK P.T.O.
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33, Wrehe wifed! HTesslyas AvamE A festea yo< 3 o

i, i, an, §an, s, @ et s W R di9 wifa e send qarE
H{d o, I g Sur T, sfael, avagfaantamme, siwa fanian, abiE, gEeen
anfer ArtferaaTasy @ fafay s=fes 3mdd. =i wald wredia g9 waaed’ ) Ryl §9
IIATE" AT HaTa ole o s SrEl YR ARd. S & sfvadan wle e
e, Srgfoenfasme & ot Sl 3 i, e SR Wehw B st -
FTE. WA ST €T I RS AR T e &aEE e i fheaass | 96
3@ argd. A & fwufmi ame, e TR ard s argfamfasmedt wd. Hiar
TEATEHTET Wb BT ST SRS TR, T ETeierishl shTeT Yyari e Ry
ATEd 7

(1) SEAT —FHAT —

() B~ -

(3) BT —F &

(4) TEAT — &A1 -0

Study the following information carefully and answer the given question :

Beena, Meena, Teena, Reena, Karina, Heena and Daina are travelling in a train
compartment with ‘lll- tier sleeper berth’. Each of them has different profession of
engineer, doctor, architect, pharmacist, lawyer, journalist and pathologist. They occupied
‘two lower berths’, three middle berths' and ‘two upper berths’. Beena, the engineer is
not on the ‘upper berth’. The architect is the only person who occupies the same type
of berth as that of Beena. Meena and Heena are not on the ‘middile berth’ and their
professions are pathologist and lawyer respectively. Teena is pharmacist. Daina is
neither a journalist nor a architect. Karina occupies the same type of herth as that of
doctor, then which of the following groups occupies the middle berth ?

(1) Daina — Karina — Teena

(2) Heena - Karina - Teena

(3) Daina — Karina — Reena

(4) Daina - Heena— Teena

WEed1 SIS AR / SPACE FOR ROUGH WORK
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34. SUTATIR U SO AR 3 9N Guiadl ieffaiegd Syd el | 8. W6
e faum gea arEd 9 saud Feen
sl ;A gre &,
Tt ;3 frgoe ang.
G : I ARATE WY Hid Wi qierdd,
Ll B IEIRC CIEe)

(1) & (2) =I5 (3) it (4) =

Four suspects, one of whom is the guiity party, are being interrogated by the police. Select
the culprit if just only one of the statements is true.

Ani . Dadu did it.

Chani : Eniis innocent.

Dadu : Aniis lying when she accuses me.

Eni  : Chaniis telling the truth.

(1) Eni (2) Dadu (3) Ani (4) Chani

35. TEIE YR 3T SuaTen Teuld gatd A gatg e

a1 amidiet ferareat=h wepor HEaT Rt 2

a. anidie vee faeneals den = feeaten T@i= oo .

. antdta wd frineatzm T ww ahs 323 AR anf = Ted 99 17 o1,
(1) Wit “a” 3 “b” usbfzaao geft am.
(2) wifedt “a” @ “b” UehRtzAU TS 318 gor gieft A
(3) W Hifad “a” Tt 3R W B migd “b” qf T
(4) e OTfEd b el 3R W wE miEd “a” et e,

Select the most appropriate option with respect to answer the following question :
What is the total number of pupils in your class 7

a. The number of male students in the class is twice as much as the number of

female students in the class.

b. The sum of ages of all the pupils in class is 323 and their average age is 17.
(1) Information “a” and “b" together are not sufficient.

(2) Information “a” and “b” together is necessary but not sufficient.
(3) Information “a” alone is sufficient while information “b” alone is not sufficient.
(4) Information “b" alone is sufficient while information "“a” alone is not sufficient.

- T

TS HITATST ST / SPACE FOR ROUGH WORK P.T.O.
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36. U HikldH ANIHR,
1 2 4 TR fresh and juicy
5 4 6 TS eat juicy fruits
6 78 U fruitis ripe
W ‘eat W1 wsgTEh figa g wivid 2
(1) 4 () 6 3) 5 4) 7
As per a code language,
1 2 4 means fresh and juicy
5 4 6 means eat juicy fruits
6 7 8 means fruit is ripe
Then what is the sign associated with 'eat’ ?
(1) 4 (2) 6 (3} 5 4) 7

37. T gihfaw WA APTITUDE & 9= ELXEXQHA 37&1 faifgam, & = @iehfae wNd
ELEPHANT & =8 &4 i@ 7
(1) IHILLWRP (2) IHINNWRP  (3) IOILLWRP (4} IHITLWRP

The word APTITUDE is written as ELXEXQHA in a code language, how the word ELEPHANT
will be written in the same code language ?

(1) HILLWRP 2) IHINNWBP  (3) IOILLWRP  (4) IHITLWRP

38. Ui WA WiSAvATT Hewid dTfhes e 3 vt faer
M3 N =ft 9rd =/ 2
a. R s J A M3 91F L Ir=amsht &9 e 3R, S W= TS - ieea TR
qerm T
b. N Lanfr Ja=t whdl gerft o1,
(1) ot a TR 3R g e d9erd qh A,
(2) |t b T 3R WY T d9era TN AE.
(3) wmmft a ¥ b THEAUN T Il g R,
(4) \mft a9 b UHEATR e 3R o Fgh e
Select the logically appropriate option with respect to answer the following question :
How is M related to N ?

a. R's sister J has married M’s brother L, who is the only son of his parents.

b. N is the only daughter of L and J.

) Data a is needed but not sufficient alone.
(2) Data b is needed but not sufficient alone.
)

)

Data a and b together are needed and sufficient.
Data a and b together are needed but they are insufficient.

oAl HHEGE! SN / SPACE FOR ROUGH WORK
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FT FHEE HO A= BIETG ATE). AT STAsi g€ THEE JioHT a2 HIeT TeTre
W FeTe A, Wl gt IuH IEa, avwg ff e e Iee wa e @
TG TR LUaTe TR Fd. e QST AR SFar A e Meqnd g gere
W 8 R T STedTaEd AT Ry afa 39 .

(1) SR geiu A g gatn s fyes soame gae smvh .

(2) TrRiETS TaT=T Reae TR ToM I FEE wER AfGTEE TE.

(3) e ge i FaEe S8 A § q4yT IR,

(4) O FZEEN qorem Ushidem wA g 2o wagum .

Legal action should be taken to prevent the use of children as low cost labour in poor Asian
countries in industries such as electronics, garments, shoe, and toy manufacturers. Nothing
short of a ban on child labour is acceptable. Child labour is an attractive proposition for
employers because children have quick fingers, good eye sights and are often more productive
than adults and do not have to be paid very much. And there is a ready supply, thanks to the

number of children dropping out of education because their parents cannot afford to educate
them. If children have to work they are denied their childhood and education.

Select one of the following options that is true and most weakens the above arguments.
(1) International agencies have long been pressing for free education for all.

(2) Laws governing the minimum age for employment do not exist everywhere.
(3} Itis well known that children work more consistently than adults.

(4) Without the children’s wages, the family could not afford to educate them

AnyWay.

T i e g e = § i e s [ T T

P.T.0.
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40. STeRl eIl 3T SV A degl a1 Toharr o reuratdia WIS HATeHETd S0 v 7o aet
fopmmm = et WS e woone ReerEe g6y S 9N oS THITE STeeTd e
T ot grETen = qunEee 9 aefiet oo anefiidifaveft stfe wifedt frearren Tea we.
TTEIAT TETET T ey w6 a1 gaan Haes e, oo fema, gemm
Tehar frarediaTa wa .o SR &9 T ArTE 3T i) R e Five %% Tk 3 fife
FY T TR 3R ETE ST 7Y g,

i YfFaarern yg@ ford 3ta anf wata ske e gée vafare faen

(1) TREYTeT $e QU= sqerfi=l W W= Uret W=y S%- U1 YFeT Shell TR,
(2) R gume wuRht gt it e @ o e Sfted ST greTen @ S,

(3) SR TEET <A WY uiE e W wEen iU Aifad) frea qreTen we B,
(4) TISUTHTST GUTET AT FRTITYET W oy S | g,

When persons go to other country, he or she should try to leam at least some of the language
of that country, though it is difficult to pick up unfamiliar language in a short time. Leamning
just a little about a country’s language helps you to find out more about itself and its people’s
customs. Similarly it means that you can do things more easily by being able to ask for
information, addresses, order what you want at a shop or restaurant that is less embracing
than pointing and arm waving.

Select from the following options most appropriate expression as main conclusion of above

argument.

(1) Persons visiting foreign country should try to get some acquaintance with its
language.

(2} If you are familiar with language of the country it is easier for you to lead a life in

that country.

(3) Itis possible to find out more about the country if you are familiar with its
language.

(4) Speaking foreign language is easier than using sign language for
communication.

oA HIHTETE! FTRT / SPACE FOR ROUGH WORK

A
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41. HiEd JHda 1@ BA || w1 CE, @ ZACB < 7 et 7

A
E
40°
80° .
B C D
(1) 60° (2) 80° (3) 70° (4) 45°
In following figure, seg BA || ray CE, then m ZACB =?
A
E
4Q°
800 1 .
B C D
(1) 60° (2) 80° (3) 70° (4) 45°

42. meter 768 fereneatar T 39 wEvaTE Wiffet. SR Wi Sae el red e o U‘Tﬁﬁ
G AR, T IS T fardt feremeff g 2
(1) 32 (2) 48 (3) 27 (4) 54
In the school, 768 students were told to stand in rows. The number of rows are 3 the

number of students in each row. Then how many students are in each row ?
(1) 32 (2) 48 (3) 27 (4) 54

43. 791 Iaiws 5 forrft I1erd em, AR Il @ed 8 frdt Tiem, et SoreieRe S 3 TRt rem
wﬁrwmﬁs%ﬁwmwz%ﬁﬁm T gearre fashmmry fed
HALER AR ?

(1) 23 fh (2) 19 et (3) 21 T (4) 3T

Yash travels to the North 5 km, turns right and travel 8 km and then turns right and
cover 3 km and then again turns right travel another 5 km and then turns left and travel
2 km. How far is Yash from the starting point ?

(1) 23 km (2) 19 km (3) 21 km (4) 3 km

44. 8,11, 20, 29 7 HEITHYA SV T HH! HUE! IS I FEAT TG Ao ?
(1 1 (2) 2 (3) 3 (4) 4

Which of the following number is to be subtracted from 8, 11, 20, 29, then we will get

these numbers in proportion ?
(1} 1 (2) 2 3 3 (4) 4

THTedT SHIMTHTE! AR / SPACE FOR ROUGH WORK P.T.O.
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45. Qe E@Es 2006 9 2010 vt IemeA et ewmt aee ¢

1000
1000 f--=ws-me-mmccccenaceaaaaaan
T 800
800 f-=-m-cevemcacmcuaanann
600
E' BOO po--mmesmommmana-
400
400 ( ----------
200
200 F-~--
2006 2007 2008 2009 2010
™/ —>
(1) 800 (2) 600 (3) 400 (4) 300

In following graph, what is the percentage of increase in production from year 2006 to

20107
N
1000
1000 fe=v=====mermecmcercccca e
T 800
BOO F-=---=-c~=meccscnnmaan
g 600
_§ 600 f---=-=-==--«-===-
& oo loveoamann 400
200
200 ----
2006 2007 2008 2009 2010
Yeare ——>
(1) 800 (2) 600 (3) 400 (4) 300

TSI TTHTHTS! ART / SPACE FOR ROUGH WORK

A
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46. wiEE A o w84, AABD =t qitfidt e,

A D
909
5 a1,
90°
-
B 2, ©
(1) 3684, (2) 3071, (3) 2431, (4) 1738,
Observe the following rectangle, find perimeter of AABD.
D
A0
809
5cm
90°
-
B 12 cm C
(1) 36cm (2) 30cm (3) 24 cm (4) 17 cm

47. U SEE GUE 25 AR, S A 91 @9 30, 29, 25 ¥ 20 3de T ==
9 A= dEarE guat fadt ¢
(1) 26 (2) 29 (3) 27 (4) 28

The average of five numbers is 25. If four of these numbers are 30, 29, 25 and 20, then
what is average of larger three numbers ?

(1) 26 (2) 29 (3) 27 (4) 28

48. q=7 TH W Pof Hwaw 12 fgw et w aw wm e 6 Raam b e w < g
q Fm foreft femama qof +efter 7

(1) 4 (2) 6 (3) 8 (4) 10

Pawan can complete one work within 12 days but Jiwan completes same work within
6 days, then how many days it requires to complete this work together ?

(1) 4 (2) 6 (3) 8 (4) 10

SO HIATATE! AT / SPACE FOR ROUGH WORK P.T.O.



49. W 484 x 144 = 260G, T f e

22 D17

69.696
14.4

(1) 48.4 (?) 4.84 (3) 202 (1) 22

9.696
=7

6
If 484 x 144 = 69696, then 'J?ZE

(1) 48.4 (2) 4.84 (3 200 M 2.2

50. U WeSH 80 fk i, ufa am = R @t oo A IR ® Sie FUIE 9 e AT,

R T MER dF A 8 AT FIet & e qonl A R
(1) 80 feprft/anat (") 66 66 rrﬁ/

A car takes 9 hours to travel from Pune to HNagpui at an average speed 80 kmv/hr.
If the same car has to cover the same distariee i 8 hies . what should be the average
speed of the car 7

(1) 80 km/hr. () AB.66 lan/hr,

(3) 90 kmv/hr. (1 120 kan/mhin

51.

U HETIETerA vgm 600 fFEned sgd. s UT: ar sl fohant &t feban gt fowm foar,
I 75% Taremeatan sush 7 45% farmeatzn B fna e sins av 21 fama e frreat=h
T TG

(1) 48 (?) 60 (3) 80 (4) 120

There were 600 students in a college. Each was offered cither Fnglish or Hindi or both.
If 75% students offered F nglish and 45% Hinde Tiowe many stndents offered both 2
(1) 48 (2) 60 (0 (4) 120

52. 84dl g 12 989 Uk 1T 9 fequFr IIUf FAAM, oA RN 0T 20 g 0T R

e TITEL. AT d9 A A2 R e A PRl P qepdie 2
(1) 8 () 15 (B9 (1) 12

8 children and 12 men complete a cerlain piece of woik it 9 days. I each child takes
twice the time takan by a man to finish the worl in howyy many days will 12 men finish
the same work ?

(1) 8 (7y 15 (3 9 (1 12

o] HIHTHTET AR / SPACE FOF "I0HGH WORK

A
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57, %A1 9219 JT=aT UlEedT Ut 3R adl $El.
(1) 20 (2) 27 (3) 28 (4) 30

Find the average of the first five multiples of 9.
(1) 20 (2) 27 (3) 28 (4) 30

54. T FFATESHA FaX 3.5 M, 9% EeA™ 140 M. FielwaT AR v A g8 oArarEt
IGIS
(1) 30 (2) 31 (3) 40 (4) 41

If distance between two tree plantations is 3.5 meters, then how many trees will be
planted on the road of length 140 meters 7
(1) 30 2y 31 (3) 40 (4) 41

55. fom aawa SuaTardl FHHET 6,000 %, ¥ FI A & 3 ANiAal dhel 9,240 F. TE HEA
FAgERT FAT, T A1 HArE CHLET, Wles sararar ) et ¢
(1) 18 2) 16 (3) 12.5 (4) 20
Niraj obtained a loan of Rs. 6,000 from the bank to purchase a bicycle. After 3 years

he returned an amount of Rs. 9,240 and freed from his loan. What is the rate of simple

interest p.c.p.a. of that loan ?
(1) 18 (2) 16 (3) 125 4) 20

56. X HMUT Y 71 2 e It 500 fh.ft. 3. e Wed X 91 SR Y %e ar
20 fo. 1. T ged. = 9@ gEl W Y A1 ST X ®e anft 30 . S ared.
X A1 TR TR e g o THHH IR Hdd ?

(1) 200 f 1, (2) 300 fer.m. (3) 120 f&.1ft. (4) 40Tt

X and Y are two stations 500 Km apar. A train starts from X and moves towards
Y at 20 Km/hr. Another train starts from Y at the same time and moves towards X at
30 Km/hr. How far from X will both trains cross sach other ?

(1) 200 Km (2) 300 Km (8) 120 Km (4) 40Km

et FMTHETE! AR / SPACE FOR ROUGH WORK P.T.O.
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HITE g8 T Iar Adel ?

(1) 45 (2) 90 (3) 200 (4) 180

If weight of 6 sheets of paper be 45 gram, how many sheets of same paper would
weigh 1500 gram ?

(1) 45 (2) 90 (3) 200 (4) 180

58.

HEHT Fe] AETE 540 Wsg T8 . W el ffremed € fret wrsg Te e ¢
(1) 108 @) 180 (3) 36 (4) 60

Salama types 540 words in 30 minutes. How many words will she type in 6 minutes ?

(1) 108 (2) 180 (3) 36 (4) 60
59, 3.65x3.65+2.35x2.35-2x2.35x3.65
1.69 '

(1) 1.69 (2) 2.35 (3) 3.65 (4) 1
3.6656x3.65+2.35%x2.35-2x2.35x3.65 _n
1.69 '

(1) 1.69 (2) 2.35 (3) 3.65 4) 1

60. T HiErTER 50 Tt wfd 7 o1 wuEh 9 o A gud @ 3o HevEE 6 91 W, ST

T HERTER o9 AR 4 9 S & meET quad 9 o7
(1) 60fmfi/amm  (2) 4s5fmf/am  (3) 33% fft /A (4) 75 et /amE

A car takes 6 hours to travel from Pune to Mumbai at an average speed 50 Km/h. If
the same car covers the same distance in 4 hours, what should be the average speed
of the car 7

(1) 80 Km/h !

33— Km/h
3

(2) 45 Km/h (3) (4) 75 Km/h

TSt THIATHTS A / SPACE FOR ROUGH WORK

A
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61. T YATETET ST HEA GIeiel e o1 .
HiEEiDRGCICRER :
(1) TIRBEE TR gIITAT ATl
(2) ATREE TARMHE T AT ATE.
(3) FAET-TIIT TR el A ATET,
(4) ATIH U=hTHeR CRITSE ST

Complete the following statement using appropriate option.
Secret Reserve .

(1) Appears in the Balance Sheet

(2) Does not appear in Balance Sheet

(3) Does not appear in Profit and Loss Account

(4) Appears in the Trading A/c

62. Ift o At WA HE Vg o Fohd |1 RO Avft 7 2oft 6t euifaet
AT,

(1) <ft faferse awieft weftm s

(2) i anfi ad, 1oL a¥ 9 géie avisl detta A"

(3) N gt auteht w=fg Fradama

(4)

4) S0 wed wrfier auiel HEiU SEaTd

Receipts and Payment Account shows all cash and bank receipts and payments,

Related to particular accounting year
Related to current, past or future periods
Related to next accounting year

Related to previous accounting year only

1
2
3
4

R —

63. ‘Tl wEuEr Iuia’ Hie A=A W ten 379 TR,
(1) Tl T et 2 o0 @ ol
(3) UHHA Hig yomed! (4) &8 Hig wyomredt

The system of recording ‘dual aspect concept' is called

(1) Single Account System (2) Double Account System
(3) Single Entry System (4) Double Entry System
oo HMEE! AT / SPACE FOR ROUGH WORK P.T.O.

l '
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84, TH! 7 FRISUTAT TEATY IT~ & IO & T WIAT=AT CISGUCRCCR
IO 9 T Gl EISGUEIHESEEICS
(1) 3=, 1A (2} STt IS
(3) @H, 3= (4) foreg, T
The income of non-profit making organisation is recorded on sidle

of Income and Expenditure Account and expenditure is recorded on
side of Income and Expenditure Account.
(1) Right hand, left hand (2) Left hand, right hand

{3) Expenditure, income (4) Opposite, correct

65.

e skt 25,00,000 ¥ 3R, T4 Feiear a&q@r @9 18,00,000 94 AT, o @il

3,00,000 ¥R TR, T EEes THI ufeet.
(1) % 7,00,000 (2) % 22,00,000
(3) . 4,00,000 (4) Tl AT

Net sales are Rs. 25,00,000, cost of goods sold is Rs. 18,00,000, wages paid is
Rs. 3,00,000, then gross profit will be

(1) Rs. 7,00,000 (2) Rs. 22,00,000
(3) Rs. 4,00,000 (4) None of the above

wrefiets v forem st Trd 7

(1) vEH & Feer gaeETan fega aTe.
(2) % gErITEE QU 2l deel orEehe gE B,

(3) <iETRH HAFT RN HIeed I FEET TS HEd.

(4) TEUTEA B GRS TG, [T JTmyE= AT qierd = amm
T Ad.

Which of the following statements is not correct ?

(1) The concept of accounting is broader than book-keeping.
(2) Accounting begins where book-keeping ends.

(3) Accounting requires specia! skill and knowledge.

(4) Book-keeping which is not a part of accounting, gives complete picture of the
financial condition of a business unit.

WO THIHTATS! AN / SPACE FOR ROUGH WORK

A
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67. el ATfEdI=aT YN SATEAT HATSIell &iwad A%1 (gross profit) FIgr.
AT HTeT|IaT &, 20,000, THU BE ¥ 2,00,000, 790 @9 %. 30,000, 3@l eas
TSt ®9 50,000, T wet fehl €. 3,00,000, ST wig @4 5. 2,000.

(1) ¥ 1,02,000
(2) ¥ 1,30,000
(3) ¥ 98,000
{4) =% 1,00,000

Find out Gross profit earned by business on the basis of following information.

Opening stock Rs. 20,000, Purchases Rs. 2,00,000, Wages Rs. 30,000, Closing stock
Rs. 50,000, Sales Rs. 3,00,000, Office rent Rs. 2,000.

(1) Rs. 1,02,000

(2) Rs. 1,30,000

(3) Rs. 98,000

(4) Rs. 1,00,000

(1) ITERITAT Hed AT AT <o
(2) FelrerEr=AT dresiayed AT 30

(3) JETHETAT gAETan fHeshd /I @ @Y Arfoi wifedt 2ot
(4) IamTE=ITET AT T A ad e aiferdfr ot 20

The main objective of accounting is

(1) To provide information about only profit of the business

(2) To provide information about the loss of the business

(3) To provide information about the general income and expenses of the business
(4) To provide information about the profit or loss and the financial position of a

business

TR HHTHS AT / SPACE FOR ROUGH WORK P.T.O.
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69. U@ WHH A HIgT W) Herr gdl T (Debit) wtwama qm.
(1) T @
(2) = @
(3) T@En
(4) &% @

A horse purchased by making cash payment shall be debited to
(1) Livestocks Account

(2) Goods Account

(3) Cash Account

(4) Bank Account

70. 1-1-2022 = ‘v fafiess’ 10,00,000 Twar=h =i wfimd @id) el
FHUHA TR S 50,000 %91 9164 @9 fear.
T wfie iRy davarerd! SuHE 75,000 ©. A feeft,
el THUET FHT 31-12-2022 F1 G9I3TEL GHRT TIET i,
(1) %. 10,00,000
(2) . 10,50,000
(3) . 11,25,000
(4) ®. 10,75,000

On 1-1-2022, A Ltd., purchased new machinery for Rs. 10,00,000.

The company paid carriage expenses for machinery Rs. 50,000.

The company also paid wages for the installation of new machinery Rs. 75,000/-
The depreciation on machinery at the year end of 31-12-2022 will be computed on
of the following amounts by the company.

(1) Rs. 10,00,000

(2) Rs.10,50,000
(
(

g’

3} Rs. 11,25,000
4) Rs. 10,75,000

e

THESHT THIATETS SR / SPACE FOR ROUGH WORK

A
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71. YHTCYTT TRl |les STETT=AT §eh WiedTdd w1 B4,

(1) "&E®
(2) 3Imem
(3) Twifra
(4) TEifra ampEe W

Amount of the cheque is directly credited to payee’s bank account

only.

(1) Bearer
(2) Order
(3) Crossed

(4) Crossed account payee

72. GIelieteh! FINa @I & T A HAOT=T TR T TSR GHI el A A 7
(1) aoft 3 eoft @
(2) I A @E @
(3) %1 T dler @I
(4) Uhs @M

Which of the following accounts is not a part of ‘annual accounts of non-profit making
organisation’ ?

(1) Receipts and Payment Account
(2) Income and Expenditure Account
(3) Profit and Loss Account

(4) Cash Account

e THIHTATS! ST / SPACE FOR ROUGH WORK P.T.O.
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73, e T S fred B3 o, e @ AreE 3 dma-dh a S
e Tt e T,
A ET - T e

In case of dissolution of a firm, all assets and liabilities are transferred to _
A/c at value.

(1) Bank A/c — Purchased price
(2)
(3) Realisation A/c — Market price
(4)

All Partner's Capital A/c — Sales price

Realisation A/c — Book value price

74, X WA T Fha T 2,000/ - TEHA 6% WA 5 qUIHE! [ARCHE @6 9T IR T
et wrpm e 7
i, T ST E.
ii. ST wshaTE ST .
(1) (i) 2,600, (i) 2,676.45

)
@) (i) 2,550, (i) 2,766.54
(3) (i) 2,600, (i) 2,345.30
(4) (i) 12,000, (i) 10,600.00

If Rarmesh invested Rs. 2,000/- in a Bank at 6% p.a. for 5 years. Find out the total amount
received by him after 5 years.

i. At Simple Interest Method.

ii. At Compound Interest Method (Yearly).
(1) (i) 2,600, (ii) 2,676.45
2) (i) 2,550, (i) 2,766.54
3) (i) 2,800, (i) 2,345.30
(4) (i) 12,000, (i) 10,600.00

o1 THIFTHTS AN / SPACE FOR ROUGH WORK

p— —

A
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y £ Y | LI TR IR U PR T T EN T AT FUTRT R TIR U Y 7 (i - (AR PR e T 4| T R LT R e I 1S
LA A PG A e
&l ﬁ-ﬂ ':'1}%‘;54‘131‘] ah 1]|

g
%, I [did Teh @ o)

T, ARG AU )

() = 5 it

2y = b E B
{3) 4« 31 b
1 = 7 Kl a

Whal is the corect sequivaee of i Tullowing actions reguired for the preparation of
the tinal accounts ?

A. Preparation of trial balance

B. Balancing of accounts

C. Preparation of annual financial statements

D

Making adjusting entries

(1) A B C 0
2y D C B A
(3) B A D C
4y C D A B

76. Tdaufblaficl eare B orewy oG B
(1) A% (2) T
(3) v (4) I
Interest on investments i, ... forabusiness organisation.
(1) Profit (2) Loss
{3) Expenditure (4) Income

THETA HIETHTS! TN/ SFACE FOR ROUGH WORK P.T.O.
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l. 15% €= % T. 4,00,000

ll. TEIHTE g HeA oA T, 45,000
T IIHER THI-AeT T3 AT QAR T8 (Debit) TEW @H
@
(1) ¥ 60,000 (2) ¥ 30,000 (3) ¥ 45,000 (4) w9 15,000

Trial Balance contains the following information :
I. 15% Bank Loan Amount Rs. 4,00,000
Il. Actual interest paid Rs. 45,000.
In this case Interest Afc debit to Profit and Loss Afc for total amount
(1) Rs. 60,000 (2) Rs. 30,000 (3) Rs. 45,000 (4) Rs. 15,000

78. =R far IemgAEEdY wd ys @« (Direct Expenses) ® o T
I,
(1) dTReg (2) THI-HI T
(3) =R @™ (4) R @
All the direct expenses of trading or manufacturing are charged to
(1) Balance Sheet (2) Profit and Loss Account
(3) Trading Account (4) None of these
79. i yETE T T 30,000 =1 W GG HeAl, TR TR 7o) B
(1) T g (2) =EER
(3) SH9ER qEY weA (4) 1 SRR 1 WA

Mr. Prasad purchased goods worth Rs. 30,000. This is classified as
(1) Anevent (2) Transaction
(3) Atransaction as wellas anevent (4) Neither transaction nor event

WWSq] WIHTATE! AT / SPACE FOR ROUGH WORK

A
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80. @A fEE AR AT Qe AT et W7,
(1) e (2) g
(3) M (4) T @
Payment of salary to the Accountant is debited to account.
(1) Salary (2) Cash
(3) Commission (4) None of these

81. WA FATfe IR HUAT TR ST, WAt i aeqavi=a1 TR FHErs!
WIATE sk Faey AR TeM e A ?

(1) 2 (2) wTEHdl A5
(3) T (wgfere) (4) =&

After India signed into WTQ, India’s traditional knowledge of which of the following
commodities was not granted a patent ?

(1) Turmeric (2) Basmati Rice
(3} Neem (4) Potato
82. % 1991 =47 G Y@ FRU B,
(1) = Fafa (2) F g Wt 9@
(3) =t e e (4) et ST &
The was the major cause of crisis in 1991.
(1) Large export (2) High tax rate
(3} Large fiscal deficit (4) Low interest rate
83. Ut WTO = 3ifem ey wenfie e,
(1) 1 = 1995 (2) 1 Smard 1995
(3) 1 FHard 1993 (4) 1 ufia 1993
The final act of WTO was established on
(1) 18t April 1995 (2) 1%tJanuary 1995
(3) 15tJanuary 1993 (4) 18t April 1993
FEeA1 HHTETS! SR / SPACE FOR ROUGH WORK P.T.O.
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84. WTO = Hia frramsiie St = 3o 40 TR HH oA 9= .
(1) 3= (2) =W
(3) ot (4) T
The developing countries agreed to reduce their tariffs by 40 per centin round
of WTO.
(1} Doha (2) Uruguay
(3) Argentina (4) Geneva

85. 1980—81% 2011 — 12 71 FISM FoaIA AW IeqTeA T (Ruwe) War=an A me
ST FRETE TEoT A A ?

(1) =M (2) WfrEm Iy
(3) wrsae I& (4) @

Which of the following items is highest in Indian import during 1980 — 81 to 2011 — 12
in raw material and intermediate manufactures group ?

(1) foodgrains (2) petroleum products
(3) capital goods (4) fertilizers
86. WIHIRTUTT=AT HeheUd WeieIdeh! HiveaT STai=T Tarey Bl 7
H. EEY HRIgIH 0
q. WAl WEH w0
%, SHIEY GHA
3. Ut fa-wsdiefior (denationalization)
(1) Fa= X (2 F=3T
(3) & &= (4) et o AT

Which of the following Is/are inciuded in the concept of privatisation ?
a. Leasing of business
b. Grant of autonomy
c. Liguidation of business
d. Total denationalization
(1) Onlya (2) Onlyd
(3) All of the above (4) None of the above

OS] THITATS! AR / SPACE FOR ROUGH WORK

A
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87. 1991 = SHEgAle LG WIAITih! Har Uesh Trufies SR g1 ?
(1) fopdt (vraere) X = (2) STHEN
(3) a1 fmeha e safdr Swor =t (4) TN FGFUR

Which of the following factors was one of the primary cause of the balance of payment
crisis in 1991 ?

(1) Low rate of inflation (2) High interest rate

(3) ARising oil price and lower remittances (4) Surplus budget

88. Tt uiet a1 wvrs ST HiFR wide’’ 1 AER WIS SIRT SAEE E HEl, A1
SETEETE T 3 Hirged 1, wgg 10 ey 30,000 T I WA IUR qeaTa
T FA. A FFETEH THhE T TeqehTa GIeATAeh! Hivd FhR A1g hel! I ?

(1) @& @[ - 3,00,000

A wirged fa1. e 3,00,000
(2) W @A - A 3,00,000

T Hged for. @ 3,00,000
(3) UR G - & 3,00,000

¥ Hirged 1. e 3,00,000
(4) T @E - A& 3,00,000

Uhg QAT 3,00,000

Mr. Paul commences business as computer merchant, trading under the name of
“Computer Point". He purchases on credit, 10 computers @ Rs. 30,000 each from Dell
Computers Ltd. The correct journal entry to record above transaction will be

(1) Purchases A/c - Dr. 3,00,000
To Dell Computers Ltd. A/c 3,00,000
(2) Computers A/c - Dr. 3,00,000
To Dell Computers Ltd. A/c 3,00,000
(3) Trading A/c —Dr. 3,00,000
To Dell Computers Ltd. A/c 3,00,000
(4) Computers A/c —Dr. 3,00,000
To Cash A/c 3,00,000
ST HTATATS! AT / SPACE FOR ROUGH WORK P.T.0.
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89. WIATedeh! HIvd SMTfe =IUR dueefl gaftm Adl ?

Which of the following is not related to WTQO ?
(1) Dispute Settlement Body

(2) Trade Policy Review Body

{3) Exchange Rate Management Body

{

4) Council for Trade in Services

90. T T T FWE WIeftceTieh! HI= FHIGT 18! 7

(1) @i arft (2) @ ad
(3) U= (4) Shaug
Which of the following is not covered under GST 7
(1) Mineral water (2) Edible oil
(3) Petrol (4) Cold drinks
91. gea affd s (VAT) BT &N _ JWEYgA WRAK @1 ST,
(1) 1 == 2008 (@) 1 et 2005
(3) 31 \rd 2008 (4) 1 FAM= 2010
Value Added Tax (VAT) has been introduced from in India.
(1) 15tMarch 2008 (2) 18t April 2005
(3) 315tMarch 2008 (4) 1St August 2010

WS THIHTS! ST / SPACE FOR ROUGH WORK
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92. GST = &A1 TvFE A Irat=l g TFh Bl
(1) 5% () =
(38) 12% (4) 1%
At initial stage of GST rate was percent on food.
(1) 5% (2) zero
(3) 12% 4) 1%
93. WTO =0 HINUIgA FET FHEH 98 HwIEEg =R g g
(1) ISt (2) f=m
(3) @ (4) wiffimm
The agriculture subsidy phase out was discussed in declaration of
WTO.
(1) Argentina (2) Geneva
(3) Doha (4) Mauritious

94, TFATHE UM BUS
(1) Zrderela U=
(2) NUHIEIS [ESATEAT TN L
(3) onfie adidial wEys @ Fw
(4) =t @4

Structural reforms mean

(1) Long term measures

(2) Improvement in the supply side of the economy
(3) Removal of growth bottlenecks

(4) All the above

T SHIHTHTE SIRT / SPACE FOR ROUGH WORK P.T.O.
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95. 1991 W} JreqT STHA@Iel U GURUT Wik TUTeH SRvEra e,
(1) T I (2) aIwfig g
(8) wwE fam (4) . T
The Tax Reforms Committee was constituted under the Chairmanship of in
1991.
(1) Raja Chelliah (2) Abid Hussain
(3) Manmohan Singh (4) M. Narasimham
96. & digd JGH g A= g, W v anfy _ xft wafta e,
(1) e (2) IrEAs FART
(3) Nraewgre FHIA (4) G

The Blue box subsidies were related with food security, disease control and
(1} Entrepreneurs (2) Heavy industries

(3) Farmers borrowings (4) Research

97. FHt IR FHt wvaTEl FFTfow IR GEeAH GIAT S 6ed [ v s FH

(1) T Gt (2) foman @i
(3) Twes @ (4) A @it
The developed countries are offering subsidies to support their agriculture,

trying to circumvent the stipulation of WTO to keep the agricultural subsidies at lower

level.
(1) Black box (2) Green box
(3) Yellow box (4) Red box

TEqT THTHTETS! STAT / SPACE FOR ROUGH WORK
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98. WY TRy WHATHA o Wi arard T et I & 3.
(1) w3 Irfr greemvest (2) &an arEqs I wEn
(3) & anftr TreiasT (4) 3] 3

At present the industrial sectors of India reserved only for the public sector are

(1) Arms and ammunition (2) Air transport and arms
(3) Railway and ammunition (4) Atomic energy
99, =& anfiw Hiom T JEAATET ST T TE 0T Il

(1) TS Ium 2) wfedt-dawe S
(3) ST T I (4) e ud
Under the New Economic Policy import licensing was abolished in case of
industries.
(1) Textile industries (2) LT. industries
(3) Consumer goods industries (4) All the above

100. GYUWON Hat=A1 g&l a9ta St srean gt Tiffes TFh g
(1) 36 (2) 5.6 (3) 7.6 (4 7.9
The rate of growth of GDP was per cent per annum during the

ten years since reforms.
(1) 36 (2) 5.6 (8 7.6 (4) 79

THoodl HIATATS! AT / SPACE FOR ROUGH WORK P.T.O.
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(8) WRgRasnel fafga e fafire smfile =9 =@ (1% 9%) =R, WwAyfErfaliea sawuhesa a
T FAIGER Hod HH FEAE o HIA) FHOGTAT JeAE hel 38, I8 THA I8 9 FITERK IHEITE
T T Fe wlee gomT Ao ey FaEEas sfufam-g2” e TgdaEn
HETE FOITT A8 9 2! gt HHT Teh TUrSq] HRIETETAT 110/ fhan 399 T g9 H=a1 221
g 9 &,

(9) W W ufieETdl TR fafza Feorelt J ToeaHT IHSATTET & IgfETenT WA tat Tl HEmEna
HIA A WEFAT 3712, AT THa SeTam Aoangei IHTara e SRRt Wil-1 Grases

A T o F SEvEw SR,
AYATRA
T. % 201, G 96 T FOIEE RVl gEa: THeT e 7
(1) @ e Tt (2) ¥ty frmamR
(3) T TR WA (4) TIOTESFHT MR

¥. k. 201.

W TS A IR (3 T g UG Y AR, TS ;1 A I (3)”
B, A WIEfeTHml W . 201 FEde Iw-Fa (3)” 2 T quim
BETRT e S0 HAEvEH AR,

O @ @ &

W UGN T IYEThdiel T YeAT gEE] Ja-3hATH 1 JRETen Saade
qferen Iaufihald & & YH-FAEHRS Feid age quiue STt Hed
TEITE]. TEHNAT T FHieeaT I Aierdd qoad, I a1 yEs! U anas =,
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